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Instructions

Today's bonus puzzles are 
0-2-5 puzzles with shape 
sliding side puzzles.

In the first grid, fill each 
dark-outlined unshaded 
shape with either all 0s, all 
2s, or all 5s. The shaded 
space is empty.

When complete, the rows 
and columns with clues 
should sum to the given 
number.

Then, using the clues 
provided, rearrange the 
shapes by sliding blocks 
orthogonally from the first 
grid until they fit the clues 
on each consecutive grid.

Thanks to Michael Chandra 
for pointing out that the 
third grid's second row 
should be clued 9, not 12 as 
originally written.
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From first grid, Up Up, Right, 
Up Left, Left, Down.
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From second grid, Up, Up, Left, 
Left, Left, Down, Down, Down, 

Right, Down, Right

From third grid, Right, Right, 
Up, Up, Left, Down
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